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II Semester B.Com./B.A./ B.B.A. Examination, July/August - 2023
(Semester Scheme :NEP)
MATHEMATICS
Business Mathematics-11 (Open Elective)

Time : 2% Hours Max. Marks : 60

Instructions : 1) Answer all questions.
DR JGPNR Y00
2) All questions carry equal marks.
QR JINVI ITPT SO,

Q1) Answer any four of the following. Each question carries five marks.
Bt 3YNS ooy, TFARYR DN, TP TJA W VOINW.

Q) Fmd the period in which Rs. 5,500 will amount to Rs. 6,050 at 4% p.a.
"7 'simpleinterest. /. X

5,500 G. 7i&d 6,050 dn. A 4%p a. X0% u@; BATO ATHS RHOD,
so&%E0D.

b) What principal invested today will amount to Rs. 1,030.80 in 4 years at
13% p.a. compound interest.
Q00 BHBE SHAT BIW 4 JINFNYY 13% ¥g wROHY dne. 1,030.80
STHIT. BOMMTT BIOY O &HAON0.

¢) Find the difference between compound and simple interest on Rs. 5,000
invested for 4 years at 8% p.a.
8% p.a. 39 4 ITFNYIOR Bk SPAT Te. 5,000 Foed XoY WG
#H3) KoCInT 2FPOD FSRII [BVIDTDY, FoFEROWD.

d) Find the effective rate of interest on Rs. 1,000 lent at 12% p.a. interest
payable halfyearly.
12% pa. 39 1000 Sp. xood Hed SOmRO WG TIDI)
F0TDOROND. VFF TAFE DRIRVTT WG,
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€) Find the future value of annuity of Rs. 500 made annually for 7 years at
the interest rate of 14% compounded annually. Given that (1.14)"=2.5023.

WONF TN TOO3ReE3TTE 14% W B0TQ 7 ITFRYIOR ToaF Fsen

SIRRT SR, 500 SAELS m?oéajahd TOR&A0WO. (1.14)'=2.5023 oo .
LI, ’
ed

f) A man purchases a car for Rs. 5,50,000. He gets a loan of Rs. 5,00,000
at 15% p.a. from the bank and balance Rs. 50,000 he pays at the time of
purchase. How much he has to pay whole amount of loan in 12 equal
monthly instalments with interest starting from the end of first month.

8 WE 550,000 Se. A 500, VOOV, WD WOTA0T 15%
pa. IQ de. 5,00,000 RO, VIS, woscd B08 de. 50,000
NSy, DoODS SN lewvn] RSDT]S. Fene done SieEfalls]

CEn]e oI ATNLTENIN 2B03R00R 12 3R I3 BoDNYY =D Tozmerer
SR, o=, THBERBeD,

Q2) Answer any four of the following. Each question carries five marks.

31 SUNT oy T3fien 3o, T3 TER D wosngh.
~ - .-a),  Drawhistogram forthc'ﬁllbﬁiﬁédaté: |
BENS BetsomNn LALMWTT &, 2ToNd.

Wages (‘000 Rs.)

=e33 (‘000 ©n.) 2-4 57 810 | 11-13 {1416 | 17-19 | 2022 | 2325

No. of workers

19 dantele] :’.toaié 216 | 8 25 | 40 30 20 8

b) Define cumulative frequency curves or ogives and mention the types of
ogives. From the following data draw a less than ogive.

Marks less than | less than | less than | less than | less than | less than
No. of students 5 13 % 19 5 &
-2-
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R0A33 CRIE G,

W onm aesnem, TYYDA I
WY TmOnYy, Schetl, Song BeER00T L.2263N03 SATHONT),
QPOWY,

YoEneh

303 3@ |to3 3as;

503 33 Bo3 8ah[303 sk 803 sad

10 20 30 50 60

IRBFY Rok | 5 13 2% 39 52 60

Define different types of averages.

sa'a:; aeaoi) mazoﬁe;m& SLIATONA,

Find the mean for the following frequency distribution,

IONT w3 QITEOD ﬁcar‘qbocbm_‘.l BORD&HEBOND,

Marks

E20BRLd 1025 |25-40 |40-55 |55-70 70-85 (85-100

No. of students

OB B0 | 6 50 | 44 | 26 | 3

1

- 3YNS usIeR QAITEOD.FED Qe

Find mean deviation about

the median for the
distribution, https://www.uo

following frequency
monline.com '

35553{'3_0@30@0135_. o

XI5]16 17787910 - -
F 18|12 118{8]|2] 1

Calculate the standard deviation and variance for the fo llowing distribution.
3YNS DITRODY TIP3 DBOF D

) BEAT, S50 F00.
X |81 f17[20]25[30]3s

F 1231411573

Q3) Answer any four of the followin g. Each question carries five marks,

a)

S TUNS Ty IJrien Wo30R. TE T 2 wosnh.

Calculate Karl Pearson’s coefficient of correlation for the following data.
Bt NS dNTN WOF BOHRFT, HE0T

WO RowogE,
6@2330‘ =8,
X [30(35]40 (45|50 |55 |60 |65 70
Y 80|90 (100|110 120 {130 140|150 160
-3-

https://www.uomonline.com



53517 MP-457

b)

Calculate Spearman’s rank correlation coeflicient.

Advertiscment cost | 39 [65[62 |90 (8275 (25 (98 36|78

(*000 Rs.)

Sales in lakhs 4754|5886 (62|68 (6091 |51 |84

bE
(000 Tr R¥Y) 39165(62|90 (8275|2598 |36 78

LINYY ZPpTaw 47 [54 [58 |86 |62 |68 |60 |91 |51 84J

If n=9,zx=2.Z}'=T’-Zx2=134,Zy3=165 and2 xy =-129 inge]
find N~ 3o 800

Explain two propertics of regression coefficients.
OAET MEEsosny T TREROEANTI, JBOA.
Find reg:cssmn line from lhe follcm ing data.

39NE FmO0D ONTT GFF O, FomHEND.

55|57 |58 [59 |59 | 60 |61 | 62| 64

>

Y (74|77 |78 |75 |78 | 82 | 82 | 79 | 81

If two regression equations are 3x + 5y=3 and 4x+3y=4, find mean
values x and y and coefficient of correlation between x and y.

2DCE) HOomdT Rewesoensd 3x+5y=3 ma_:ﬁ 4x+3y=4 t-jﬁcéti
XoPZD [PYND x WP y IDAT TOTT FOWOTT MIFIOFRR,
O ACDO.
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